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PRACTICE PAPER -- III 

MATH EMA TICS 

1. z + z :::.0, if and only if
(a) Re (z) ::: O (b) Im �z) = 0 
(c) z = 0 (d) none of these

2. zz = 0, if and only if 
(a) Re(z) = O (b) Im (z) = 0
(c) z = 0 (d) none of these

3. (3 + w + 3w2)4 equals.
(a) 16 (b) 16 w
(c) 16 w2 ( d) none of these

4. Tl1e smallest integer for which (�)J
n 

= 1 is1-1 
(a) n = 8 {b) n = 12 
(c)n=16 (d)n=4, 

5. 991h term of the series 2 + 7 + 14 + 23 + 34 +
..... is 
(a) 9998
(c) 10000

(b) 9999
(d) none of these

6. If a. b, c are in A.P. as well as in G.P., then
(a) a = b � c (b) a '1' b = c
(c) a,,._ b ;r. c (d) a= b = c

7. The sum of 40 terms of an A.P. whose first
term is 2 and common difference 4, will be

· (a) 3200 (b) 1600
(c) 200 (d) 2800

8. The value of 91'3 x 9 119 x 9 1m, .... : Cl?, is 
(a) 9 . (b) 1 
(c) 3 . (d) none of thes·e 

9. lf'the sum of first n natur'ar 'riu'mbers is
one-fifth of the sum of their squares, then n is
(a) 5 (b) 6
(c) 7 (d) 8

1 O. If one root of 5x2 + 13x + x = 0 is reciprocal of 
the other, then 
(a) x =· O (b) x = 5'

(c)x=..!. (d)x=6
6 

11. If x2 + px + 1 is a factor of ax3 + bx + c, then
(a) a? + d = -ab , · (b) a? - d = -ab
(c)a� - d = ab (d)a2 + c2 = ab

12. If x = 2 + 2213 + 2 113 , then the value of 
x3 - 6x2 + 6x is 
(a) 3 (b) 2
(c)1 (d)4

13. 16 log/ equals
(a) 5 (b) 16
(c) 25 (d) 36

14. The value of J1og�_5 4 is
(a)-2 
(c) 2

(b) ,J-4
(d) none of these

15. If a• = b, bY = c, C' = a, then value of xyz is
(a) 6 (b) 1
(b) 2 . (d) 3 

16. If A= 1og
2 

log
2 

log� 256 + 2109�2• then A=
(a) 2 (b) 3
(c) 5 (d) 7

'1 1 1 . · 17. The value of (0.2) logJs[ 4+8+16+ .... r.: is

(a) 4
(c) 2

(bl 8 
(d) 6

18. The solution set of equation Ix - 31 = x - 3 is 
(a) J 3, r.o [ (b) [3, .;i;l

ic) � (d) all real number
19. The value of x which satisfy yz = a�. zx = b2 , 

xy =dare 
ca

(a)±b (b) ± be
be 

(c)±-
a 

b 
(d) :t -·ca 

lh 

20. I"'' c" is equa1 to
,,o 

(a) n,m,1cn-,1 (b) n·ni·2c ..
( c) n,m·3Cn-r (d) none of these

21. If a polygon has 44 diagonals, then the
number of its sides are 
(a) 11
(c) 8

.(b) 7 
(d) 9
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22. If 7 points out of 12 are in same striag ht line, then 
the number of triangJe,,� fo rrned is
(a) 19 (b) 185
(c) 201 (a) 508

23. Out of 10 red and 8 white balls, 5 red and
4 white balls can be drawn in how many
number of ways ?
(a)BCS x ,oc4 (b)IOCS x ec.
(c) 18C

0 (a) none of these
24. 7 men and 7 women are to sit round a table

so that there is a man on either side of a
woman. The number of seating arrangement
is 
(a) (7!)2 

(c) 6! 7!
(b) (6!)2
(a) 7!

25. Sum of co-efficients in the expansion of
(x + 2y + 2)10 is
(a) 210 (b) 310 

{ c) 1 ( cf) none of these
26. The number. of terms in. the expansion of

(x + y + 2) 10 is
(a) 11 (b) 33
(c) 66 (a) none of these

27. The total number of terms int� expansion of
(x + a)100 + (x - a)100 after simplification is
(a) 202 (b) 51
(c) 50 (cf) none of these

28. The co-efficient of middle term in expansion of
(1+x) 10 is

10 ! 
(a) 5! 6!

101
(c) 5! 7!

10! 
(b) 512

(a) none of these
29. The coefficient of y in the expansion of

(y2 +f J is

{a) 20c 
(c) 1 Oc3

(b) 10c
(cf) 20c2 

· 
( 

1 
)

0 

30. The term independent of x in x2 

- -;z is

(a)1 (b)-1 
(c 48 · (cf) none of these
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31. If each element of a cieterminant of 3rd order
with va!ue A is multiplied by 3, then the new
determinant is - ·
(a) 3A (b) 9A
(c) 27A (a) none of these

X+1 X+2 X+4 
32. The value of x+ 3 x+ 5 x+ a is 

x+ 7 x+10 x+14 
(a) -2 (b) x2 + 2
(c) 2 (cf) none ot these

33. If a. b, c are different and
O x-a x-b

x+a 0 x-c = 0, then x is equal to
x+b x+c 0

(a) a (b) b
(c) c (a) 0

34. If A + B + C = n, then
sin(A + B + C) sinB cosC 
-sinB O tan A 
cos(A+B) tanA O 

(a) cos A (b) cos A sin B
(c) 0 (a) sin C

35. If x > O and a is known positve number then
a 

the least value of ax + - ,s 
(a) a2 

(c) 2a

. x 
.. (b) a 

( cf) none of these 
36. The largest interval for which x 12 

- x9 + x•
- x + 1 > 0, is
(a)-4 < x � O (b) 0 < x < 1
(c)-100 < x < 100 (a)--«)< x <,:,:; 

37. The probability of getting heads in both trials
when a.balanced coin is tossed twice, will
be

1 
(a) 4

(c) 1

1 
(b) -2

(cf) �4 
38. Two cards are drawn at random from a pack

to 52 cards. The probability of these two being
aces is

1 (a) 26 
1 

(c -
2 

1 
(b) 221

(a) none of these
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39. A and B throw 2 dices, lf·A throws 9. then B's
chance of throwing higher number is

(a) -6 

(b) 2 ·.
1

(c) -3 
1 

(d'J -8 
40. If A and B are independent events, then

P(A n 8) equals
(a) P(A) + P(B)
(c) P(A/8)

(b) P(A) P(B)
1d'J P(B/A)

41. If A and 8 are mutually exclusive events, then
P(A n B) equals 

.(a) o 

(c) 1

1 
(b) -2 

1 
(d'J 4

3 

42. Two. dice are thrown simultaneously. then
probability of obtaining a score of 5 is

1 1 
(a) 18 (b) 

12
1

(c) -9 (d'J none of these

43. The triangle joining A(2,7), B (4, -1) and
C(-2, 6) is
(a) equilateral (b) right angled
(c) isoceles (d'J acute angled

44. The area of triangle with vertices (-4, 1 ). (1,2),
(4,-3) is
(a) 14 (b) 16
(c) 15 (d'J 18

45. The equation of line through (1, 2) and
perpendicular to x + y + 1 = O is
(a) y - x + 1 = O
(b) y - x - 1 = 0
(c) y - x + 2 = O
(d'J y - x - 2 = 0

PHYSICS 

46. Two lenses whose powers are· +20 and
-40 respectively. The power of combination
will be
(a)-4 D 
(c)-2 D 

(b) +2 0
(d'J +4 D

47. In a transformer. the number of turns of primary
coil and secondary coil are 5 and 4 respectively.
If 240 V is applied on the P.ri�ary coil, then 
the ratio of current in primary and secondary 
coil is 
(a) 5: 9
(c)4: 5

. (b) 5: 4 
(d'J9:5 

48. Two vessels of different materials are similar
in size in every respect. The same quantity of
ice filled in them gets melted in 20 minutes and
40 minutes respectively. The ratio of thermal
conductivities of the metal is
(a) 3 : 1 (b) 6 : 5 
( cl 5 : 6 ( d'J 2 : 1 

49. The part of a transistor, which is heavfly doped
to produce a large number of majority carriers, is 
(a) collector (b) emitter
(c) base (d'J none of these

50. We have a galvanometer of resistance 25 n
wire. It is shunted by a 2.5 wire. The part of
total current tha t flows through the
galvanometer is given as 

l
g 

33 l
g 

33 
(a) 

1·= 11
(b) T = t1

I 1 I 4 
(c) .2.=- (d'J -2.,,,_, __I 11 I 11 

51. The kinetic energy of a particle ex.ecuting
S.H.M .• is 16 when it is in its mean position. If
the amplitude of oscillations is 29 cm; and the
mass of the particle is 5.12 kg, then time period
of the oscillation is
(a) 20rc sec
(b) 2rr sec

(c) rr/5 sec
(d'J 5rr sec

52. A body of mass.100 gm is rotating in a circular
path. of radius r with constant velocity. The
work done in one complete revolution is

(a) 100 J (b) _r_.J
r 100 

(c) 100 r J (d'J Zero 


















